events

eventVsRun vV deltaVzVsVzVpd
¢ E Entries 130416 o Entries 130416 o Enwies 130416
Zooo - Mean  1.306e+07 5000 |— W‘ Mean -0.8728 3000 - Fun + Mean  -0.009397
o RMS 8332 [ n + RMS 243 F FuR 3 RMS 2.586
C 4
F o f + + 4
6000 [~ + + ¥
F 2000 + 2500 +
: I 4 o g 4
5000 [~ [ N R L R
E L " 2000 |~ +
E 3000 |- + + N
4000 = F il + +
E o . + F + +
E 3 . 1500 | & +
3000 - 2000 - N N 3 '
F - + A + +
o F N ” 1000 + ¥
2000 [~ F . F + -,
C o - . o # *
E 1000 [~ -~ o o S
1000 - L T
E 5 [ [ -
o L o x10 f) S EP N I I S Py s PP PPN PP BRI IR R B
13.04 13045 1305 13.055 13.06 13.065 13.07 13.075 ~100 50 0 50 100 , 6 4 2 6
runindex Vz(cm) Vz-Vpdvz(cm)
10° deltaVx 10° delta\ 10° deltaVz
N _ Entries 130416 N _ Entries 130416 N _ Entries 130416
L Mean 0 L Mean L Mean
120~ RMS 0 120 RMS 0 120 RMS 0
100~ 100 |- 100~
80— 80 |-
60— 60 [~ 60—
20 a0 a0
20— 20 [ 20~
i) ISP PP PPN PP B PP PPN I IO o) PP IFEPIFE IFEPIFIP IPEPIIPS B PP ISP PP PP ) SPFIFEP IR PP IOl B PP UM IPEII P
- 15 -1 -0.5 0 0.5 1 - -15 5 0.5 0.5 1 - -15 ] 0.5 05 1 15
mcVz-Vz(cm)

15 15 2
mcVx-Vx(cm) mcVy-Vy(cm)



embedding

o o
[a) 3_— o t
g =1
g [ 5 L
o
i s [
2 x
i x|
i g L
B 0.5
L i
of- ol
ab i
i -0.5—
_2__ :
C 1=
3 L
1 1 1 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1
0 2 4 6 8 10 12 0 2 4 6 8 10 12

mcP.(D*)(GeV/c) mcP(D*)(GeV/c)



Decay kinematics
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single-trackstracking efficiency(nfit,nfit/nmax,dca)
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D* accpetance X tracking efficiency
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